
【コンプリートカーリファインパーツリスト】

機種 品番 品名 税込定価 税抜 2025/9/11時点在庫数

01464-XLTZ-000 HOSE SET,R FRONT BRAKE 13,772 12,520 4

01465-XLTZ-000 HOSE SET,L FRONT BRAKE 13,772 12,520 22

15201-XLTZ-000 PIPE,COMP OIL LEVEL 2,482 2,256 3

15400-XLTZ-000 FILTER,TRACTION OIL 11,000 10,000 23

15401-XLTZ-000 BRK,FILTER TRC OIL 3,564 3,240 13

15402-XLTZ-000 BOLT FLANGE 5X10 220 200 30

15404-XLTZ-000 HOSE,TRC OIL 2.5M 5,632 5,120 8

15405-XLTZ-001 TRACTION OIL 1.0L 35,200 32,000 6

15406-XLTZ-000 WASHER,SPECIAL M6 176 160 3

15510-XLTZ-000 LEVEL GAUGE CAP 4,400 4,000 12

15511-XLTZ-000 EXTENSION RSVER TANK 42,680 38,800 8

15512-XLTZ-000 RESERVER TANK,TRC OIL 22,000 20,000 14

15513-XLTZ-000 WASHER RING 220 200 7

15514-XLTZ-000 BRACKET,RESERVER TANK 1,760 1,600 28

15515-XLTZ-000 BOLT FLANGE 6X12 220 200 30

15518-XLTZ-000 STAY,RESERVER TANK 660 600 28

15519-XLTZ-000 NUT LOCK M6 352 320 52

15520-XLTZ-000 BOLT FLANGE 6X14 220 200 32

15521-XLTZ-000 NUT LOCK M6 352 320 32

15531-XLTZ-000 BRKT TANK UPPER 1,617 1,470 3

17201-XLTZ-000 CASE COMP AIR CLEANER 66,000 60,000 3

17215-XLTZ-000 BOLT FLANGE 6X40 220 200 32

17218-XLTZ-000 EMB.AIR CLEANER 594 540 25

17220-XLTZ-000 ELEMENT AIR CLEANER 18,392 16,720 4

17248-XLTZ-000 PIPE A,INT COOLER SET 86,900 79,000 10

17281-XLTZ-000 HOSE CLIP,40-50 1,056 960 23

17300-XLTZ-000 PIPE SET THROTTLE INT 170,676 155,160 8

17400-XLTZ-000 VALVE COMP,RELEAF SET 33,660 30,600 15

17905-XLTZ-000 BOLT SET,SPR CHARGER 3,520 3,200 11

17950-XLTZ-000 SUPER CHARGER ASSY 440,000 400,000 2

17951-XLTZ-000 PULLY SUPER CHARGER 24,200 22,000 14

17953-XLTZ-000 BRK,SUPER CHARGER 49,500 45,000 14

17956-XLTZ-000 BOLT,SPECIAL,M10X20 660 600 48

17957-XLTZ-000 WASHER RING 660 600 58

17958-XLTZ-000 JOINT,OIL HOSE 660 600 50

17959-XLTZ-000 CLIP 660 600 71

18200-XLTZ-0000 PRECHAMBER ASSY.,EXH. 129,800 118,000 3

18400-XLTZ-0000 SILENCER ASSY.,EXH 211,420 192,200 4

19230-XLTZ-000 BELT WATER PUMP 14,850 13,500 23

19700-XLTZ-000 INTER COOLER,COMP 233,200 212,000 13

19701-XLTZ-000 MOUNT,INTER COOLER SET 80,916 73,560 10

19721-XLTZ-000 OIL COOLER SET 32,065 29,150 6

19722-XLTZ-000 BOLT FLANGE 6X16 220 200 30

31170-XLTZ-000 PULLY,SPR CHRGR 27,500 25,000 3

31171-XLTZ-000 BOLT FLANGE M8X50 440 400 4

32108-XLTZ-000 HARNESS,RR FOG SW WIRE 13,864 12,604 3

32109-XLTZ-000 HARNESS,RR FOG WIRE 5,997 5,452 3

33401-XLTZ-000 ILLUMINATION AERO SET 58,080 52,800 3

33440-XLTZ-000 COUPLER (1P) 367 334 3

RZ



【コンプリートカーリファインパーツリスト】

機種 品番 品名 税込定価 税抜 2025/9/11時点在庫数

34432-XLTZ-000 BAND HARNESS(150MM) 273 248 3

34433-XLTZ-000 BAND HARNESS 326 296 3

34435-XLTZ-000 CUSHION 365 332 3

37830-XLTZ-000 MUGEN RZ SENS ADPT SET 11,713 10,648 3

38120-XLTZ-000 HORN BRACKET SET 1,078 980 3

38121-XLTZ-000 NUT FLANGE 8MM 77 70 3

42700-XLTZ-000-38 MFZ17X7.0 5-114.3 38DG 94,512 85,920 40

42700-XLTZ-000-48 MFZ17X7.0 5-114.3 48DG 94,512 85,920 37

42710-XLTZ-00S0-DG CENTER CAP ASSY 3,344 3,040 99

45018-XLTZ-000 CALIPER ASSY,R 47,080 42,800 12

45019-XLTZ-000 CALIPER ASSY,L 47,080 42,800 11

45022-XLTZ-000 PAD SET,FRONT 35,200 32,000 22

45251-XLTZ-000 DISK,R FRONT BRAKE 33,000 30,000 1

45255-XLTZ-000 GUARD R, FRONT SPLASH 8,272 7,520 2

51610-XLTZ-000 DUMPER ASSY,R FRONT 77,000 70,000 5

51620-XLTZ-000 DUMPER ASSY,L FRONT 77,000 70,000 4

52441-XLTZ-000 SPRING ASSY, REAR 14,300 13,000 8

52610-XLTZ-000 DUMPER ASSY, REAR 38,500 35,000 15

54102-XLTZ-000 KNOB COMP 14,080 12,800 6

70230-XLTZ-000 BOLT SET,SIDE 11,550 10,500 1

70319-XLTZ-000 SPOILER R,SIDE ASSY 107,756 97,960 6

71110-XLTZ-000 FRONT UNDER SPOILER 103,400 94,000 1

71112-XLTZ-000 BOLT SET,FRONT 29,920 27,200 4

71120-XLTZ-000 SPOILER LIP ASSY 57,200 52,000 3

71131-XLTZ-A00 CARBON COVER,GRILLE 65,560 59,600 5

71711-XLTZ-000 STAY COVER R.OUTER 19,756 17,960 2

71712-XLTZ-000 STAY COVER R.INNER 8,395 7,632 5

71721-XLTZ-000 STAY COVER L.OUTER 19,756 17,960 3

71722-XLTZ-000 STAY COVER L,INNER 8,395 7,632 6

71731-XLTZ-000 R,BRAKET A 14,080 12,800 12

71733-XLTZ-000 L,BRAKET A 14,080 12,800 13

72002-XLTZ-000 L,FOG  GERNISH 30,360 27,600 3

72112-XLTZ-000 BOLT SET, LIP 9,504 8,640 4

75700-XLTZ-000 EMBLEM FRONT 5,434 4,940 5

75701-XLTZ-000 EMBLEM REAR 3,894 3,540 123

78200-XLTZ-000 BOOST METER SET 77,220 70,200 168

78201-XLTZ-000 METER HOOD 29,700 27,000 2

78209-XLTZ-0000 BRAKET SCENCER 290 264 3

78210-XLTZ-0000 WASHER BOLT 6X16 290 264 3

80120-XLTZ-000 BRK CONDENSER UPPER 14,678 13,344 2

80121-XLTZ-000 WASHER  PLAIN 6MM 176 160 64

80315-XLTZ-000 HOSE COMP,DISCHARGE 15,400 14,000 18

84115-XLTZ-000 BOLT SET,REAR UNDER 37,039 33,672 3

87533-XLTZ-000 LABEL SERV.INFORMATION 440 400 198

90000-XLTZ-000 ADJ BELT TENSIONER 8,360 7,600 70

90123-XLTZ-000 WASHER 297 270 3

81200-XLTZ-K2S0-D RZ SEAT RAIL(D)※OPTION 29,700 27,000 4

81200-XLTZ-K2S0-P RZ SEAT RAIL(P)※OPTION 29,700 27,000 1

RZ


